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Part A (10 x 2 =20)

Answer all the questions.

1. What is dishonour of bills?
LIHNFF.H AL GTETDTED GreTen ?
2. What do you meant by retiring of bills?
wrdnEE G @uie) dupgd @bisg Befl ibloig wg ?
3. Define fire insurance.
& smuSE euenywim.
4, What do you meant by indemnity period?
rl (i Brser upd Bedl Sidleug wng?
5. What is abnormal loss?

SAFTHTGT QPLUIL| GTETMTE 6T6TeT ?

6. What are account sales?

SHHLIEHET ST, CTETMHTED GTETET ?



10.

11.

Who is a joint venture?

@ement ellenemul  eraTLIG WIT ?

What do you meant by consignment?

<2@UISE Giss bl ifleug) wirg?
What do you meant by singly entry system?

gpop ufley wopamw upd Feil idleug wrg ?

What is conversion method?

OTOMISE (LPEHM GTGITMHITE) GTEITET ?

Part B (5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

What are the advantages of Promissory notes?

2 miFQwml sreflen BeTanlos6T WiTEne ?

Or

A bill of Rs. 200 was dishonoured. Nothing charges
of Rs. 2 were paid. What journal entries will be
made if the dishonour of bill takes place?

(1) When it was lying with the drawer

(11) When it was sent for collection

(111) When it was discounted.

. 200  ssmer  wIHMIFELH  SuwSESLLHEDG
SpnaTear GOILL SLarb eh. 2 Ceaqdsslil’ L g
Gemeumd  @GpBlaneuier eundibdpasrear @HLCUL(H
LSleysemer S(hs.

1) orHonFEl @ awsuaCy meusdmeEEn Curg

(1) wrHmEE H ueTbrss Ceqssliul (Herer Cumg

(111) wrHmEFH eulLwrsstiul L Gurg.
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12.

13.

(a)

(b)

(a)

Write short note on Standard turnover.

Blepewimen eu@eumil @GMSE Sm @GO 6T(HSIs.

Or

A fire occurred on 31.12.2010 in the premises of a
merchant. Draft a statement showing the amount of
claim to be lodged.

Stock on 31.12.2009 Rs.8,00,000
Purchases from 1.1.2010 to 3.12.2010 Rs.3,50,000
Sale from 1.1.2010 to 31.12.2010 Rs.4,40,000

Gross profit on sales was 20% and stock salvaged
was at Rs.8,000.

31.12.2010 <y prafled  eflwrury  Hneuasdd &
Musg ghlinlLg. Geareumb adeurmsmer Caram® &
sTUSL () @lilamen sear(HLg&s.

31.12.2009 vy 75 muy ep.8,00,000

1.1.2010 @se 3.12.2010 eumrssmer Gameripged
¢5.3,50,000

1.1.2010 s 31.12.2010 euemgullemrer elHuenen
e. 4,40,000

Qurss @emubd  elpumandd 20 sseisb WLHMLD

ungsméssliul L s5é@ wdliy en.8,000.

What are the features of consignment sales?

SI@IUSL@H aflpueeruier Splil] SbmIGET WTene ?

Or
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14.

(b)

(a)

(b)

Raja of Madurai sent goods to Salem of Ahmadabad
at an invoice price of Rs.29,675. He paid freight
Rs.762, cartage Rs. 231 and insurance Rs.700. On
the way one fourth of the consignment was lost by
fire and a claim of Rs. 5,000 was recovered. Show
how will you deal with the claim and loss due to fire
in the book of consignor.

glieruiled 2 et @QTTmT SLTSUTHED 2 6Ter Fel(LpdE
.29,675  &@ LEs  ceeouler  QuTmLsmern
SigiderT . Seu  ep. 762 eow gHmFLlFD6CFL6EH @D
gh. 231 eow gre@ameals@h wombd e 700 ew
s yhEh Qv Qaugr . Qadaibd euiuiled s
LS #1856 § aped Casuphm sTIE.H Fneouassred §
stUlH @uuls® CQupliul L gl i@ Qeiser
glge § stull( @Quil® womd § sl @® BLLD
creueumm Camemmid ecreTLang ST (Hs.

Distinction between joint venture and consignment.
Qe aflewarsEn, SaSligh@orear Ceumum@H&er

wmreneu ?

Or

A and B completed a venture and earned Rs. 30,000.
They shared profits in the ratio of 2:1. What journal
entry will be passed when ;

(1) There is separate set of books.

(1) Records are kept by A only

(111) Records are kept by B only

A wombd B @aen elamer Hlemeypm em. 30,000
@orud  sETLOWUULLE. e SEheLw @l
udl e efdlsd 2 : 1. Yeareumd @GpHlavasatle
GNCULB uejsamer Fms.

1)  Qmeumb gafl gafl ghamer umyroMgE@ED Curg).
(i) A wl@pb gal g@h urpmofléegn Cung

(1) B ol @pb gafl g@® urpmoflégn Cung.
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15.

16.

(a) What are the limitations of Single Entry System?

@herp Lle| pepuller @G@mDUTHSET Wrame ?

Or

(b) Calculate the missing information :

Drawings Rs. 50,000

Additional Capital Rs. 10,000

Opening Capital Rs. 1,00,000

Profit made during the year Rs. 25,000

Closing capital Rs. ?

MEUULL Csrensamw sarsdl(Hs.

er(iyser em. 50,000

a(hz e em. 10,000

Qsm_&s s ep. 10,000

SjelaumanTiger Cuprinl L @eorud ep. 25,000

Bod wsd m. ?

Part C (3 x 10 =30)
Answer any three questions.

Prakash drawn a bill for Rs. 4,000 on Ram. Ram accepts
it and returns it to Prakash. Prakash endorses it over to
Raj and Raj endorses it Shyam. The latter discounts it
receiving Rs. 3,900 in cash. The bills is then dishonoured
on due date, the nothing charges incurred by the banker
amounting to Rs. 20. Pass journal entries in the books of
all parties assuming that the bill is taken up by Prakash
on dishonour.
Grsrey  en. 4,000 wHiywrw wrHNFE @l QITLPSS
et . @b s gHmsCatarh Wrsrendh@ $Hmud
Sig@ilildear  Mrsrey s QUrEsE Unmi@GnllL erpgdlnm
Cogib Qs g agmpéE UDBESHLUY awgdor . YUneE
SbwrHoIEF () QLD Qewwdiu’ @
eh. 3900 Liewrd QupliulLgl. wpd 6 prerT Sjermy wrHOFEL(H
SjauwndssiulLg. e 20 amdwugmd  @Hly  slLewrbd
U@GOSSIULLg. Seubdssiiul L wromFflar  GrsTey
ThsgsQETaTLT  erens  Oamaw(h el  gHEeflQid
Comammid @GOLUCUL({H Llejsamer H(hHs.
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17.

18.

19.

20.

Describe the procedure for computation of claim under
loss on profits policy.
@erud @it @ QameTensuded @il en

sasdl (Houspamear G apanaw elleufss.

X sent 400 goods to at Rs. 2 each to his consignee at
madras. He spent Rs. 50 on cartage, insurance and
freight. On the way, due to leakage. 20 goods was spoiled
(normal less). Consignee took delivery of the consignment
and spent Rs. 190 as octroi. Carriage and other non-
recurring expenses. He also paid. Rs. 200 as recurring
expenses. Your are required to calculate stock at the end
if the consignee sells away 300 goods.

X 400 Qummlsemer p. 2 6aisb sarg Csareenid o drar
Sl Qunp®msE Sauderm . e . 50 eurLas,
sTUNEH  LHND  FEGEFAOEGHTE  GewallLmr . Cgwaib
auflufled 20 Qum@lger yellwurdlwg (srgrrenr BHLLID)
@ik Qummp Sk Qummlsmer  Cubhm
. 190 eow mewpe] oufl, grE@Gme wLOHMmL St
Qevejsarms Qauigr Guoaibd ep. 200 ew Were mib QFaeurs
QeeedlLr  <gil® Qump 300 Qummlsemer eSHmm
aag Qarar(h Qmd srsSmliidamer ol sawad (Hs.

Differentiate between joint venture and sale.

@amarellenand@n ellhuamars@wrear CoupurHEeT wrenel ?

From the following particulars calculate closing balance
of Sundry debtors and Sundry creditors.

Rs.
Sundry debtors as on 1.4.2012 30,000
Sundry creditors as on 1.4.2012 41,000
Credit purchases 1,50,000
Credit sales 1,70,000
Discount earned 5,000
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Discount allowed 6,000

Purchase returns 7,500
Sales returns 6,500
Cash received from Sundry debtors 1,50,000
Cash paid to Sundry creditors 1,40,000

Yemeu@pd elleurmisemer Caram® @Qmdl sLemmaflsdr wHMLD
Qmd sLabCor s6r sasd(Hs.

€.
1.4.2012 & Lg upLIeL HLeTas6T 30,000
1.4.2012 & Ly upu® SLeiBCHT SHeiT 41,000
&Lam QETETLpSHE 1,50,000
S ellHLemeT 1,70,000
SaT@ERLlg CUDHDE) 5,000
saT@pUly 2fafl5ss) 6,000
Qamerapged LD 7,500
ellhuener HmLlLb 6,500
sLammeafludLlmbg Qrréss QuHDE 1,50,000
SLABCST(HEE Qrmesd CeasHwig 1,40,000
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